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g§H${bV narjm – II 

SUMMATIVE ASSESSMENT – II  

gm_m{OH$ {dkmZ 
SOCIAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 + 2 _mZ{MÌ h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 30 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages + 2 Maps. 

 Code number given on the right hand side of the question paper should be written 

on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 30 questions. 

 Please write down the Serial Number of the question before attempting 

it. 

 15 minute time has been allotted to read this question paper. The question paper 

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will 

read the question paper only and will not write any answer on the answer-book 

during this period. 
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gm_mÝ` {ZX}e : 

(i) Bg àíZ-nÌ _| Hw$b 30 àíZ h¢ & g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 go 8 VH$ A{V bKw-CÎmar` àíZ h¢ & àË`oH$ àíZ 1 A§H$ H$m h¡ & BZ_| go 
àË`oH$ àíZ H$m CÎma 30 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE &   

(iv) àíZ g§»`m 9 go 20 VH$ àË`oH$ àíZ 3 A§H$ H$m h¡ & BZ_| go àË`oH$ àíZ H$m CÎma  

80 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE  &                                                                                            

(v) àíZ g§»`m 21 go 28 VH$ àË`oH$ àíZ 5 A§H$ H$m h¡ & BZ_| go àË`oH$ àíZ H$m CÎma  
120 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE  & 

(vi) àíZ g§»`m 29 Am¡a 30 B{Vhmg Am¡a ^yJmob Ho$ _mZ{MÌ g§~§Yr àíZ 3-3 A§H$ Ho$ h¢ & BÝh| 
nyam H$aZo Ho$ ~mX, _mZ{MÌm| H$mo CÎma-nwpñVH$m Ho$ A§Xa ZËWr H$a Xr{OE & 

 

General Instructions :  

(i) The question paper has 30 questions in all. All questions are compulsory. 

(ii) Marks are indicated against each question. 

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. 

Each question carries 1 mark. Answers to these questions should not 

exceed 30 words each.  

(iv) Questions from serial number 9 to 20 are 3 marks questions.  

Answers to these questions should not exceed 80 words each. 

(v) Questions from serial number 21 to 28 are 5 marks questions.  

Answers to these questions should not exceed 120 words each. 

(vi) Question numbers 29 and 30 are map questions of 3 marks each from 

History and Geography both. After completion, attach the maps inside 

your answer-book. 
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1. gË`mJ«h H$m Š`m AW© h¡ ?  1 

What is meant by Satyagraha ? 

2. Am½Zo` VWm H$m`m§V[aV MÅ>mZm| _| I{ZO H$hm± {_bVo h¢ ? 1 

Where do minerals occur in igneous and metamorphic rocks ?  

3. bmoH$V§Ì _| nmaX{e©Vm H$m AW© ñnîQ> H$s{OE &  1 

Explain the meaning of transparency in democracy.  

 

4. n¡Ho$Q>m| na A§{H$V A{YH$V_ IwXam _yë` AmnHo$ {bE {H$g àH$ma bm^H$mar h¡ ? 1 

How is the maximum retail price printed on packets beneficial for you ? 

5. Cn^moº$m Ho$ MwZZo Ho$ A{YH$ma Ho$ C„§KZ H$m EH$ CXmhaU Xr{OE & 1 

Give an example of violation of consumer’s right to choose. 

6. bmoH$V§Ì Ho$ AW© H$mo ñnîQ>> H$s{OE & 1 

Explain the meaning of democracy. 

7. ^maV Ho$ {H$gr EH$ amOZr{VH$ Xb H$m Zm_ {b{IE {OgH$m OÝ_ Am§XmobZ go hþAm hmo & 1 

Name any one political party of India which grew out of a movement. 

8. _wÐm Ho$ à`moJ Zo dñVw {d{Z_` H$mo {H$g àH$ma AmgmZ ~Zm {X`m ? EH$ CXmhaU Xr{OE & 1 

How does the use of money make it easier to exchange things ? Give an 

example. 

9. Cn^moº$m gwajm A{Y{Z`_ (H$monam), 1986 Ho$ A§VJ©V Cn^moº$m {ddmXm| Ho$ {ZnQ>mao Ho$ {bE 

{Ì-ñVar` Ý`m{`H$ V§Ì Ho$ _hÎd H$m {díbofU H$s{OE & 3 

Analyse the importance of the three-tier judicial machinery under 

Consumer Protection Act (COPRA), 1986 for redressal of consumer 

disputes. 
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10. ~hþamîQ´>r` H§$n{Z`m± {H$g àH$ma {díd-^a Ho$ CËnmXZ H$mo EH$-Xÿgao Ho$ gmW Omo‹S>Vr h¢ ? 

CXmhaUm| g{hV ñnîQ> H$s{OE & 31=3 

How do Multi-National Corporations (MNCs) interlink production across 

countries ? Explain with examples.  

11. ^maV _| ~¢H$m| H$s {H$Ýht VrZ G$U g§~§Yr J{V{d{Y`m| H$mo ñnîQ> H$s{OE &  31=3 

Explain any three loan activities of banks in India. 

12. X~md-g_yh Am¡a Am§XmobZ {H$g àH$ma bmoH$V§Ì H$mo _µO~yV H$aVo h¢ ? ñnîQ> H$s{OE & 31=3 

How do pressure groups and movements strengthen democracy ? Explain. 

13. ‘‘^maV _| I{ZOm| H$m {dVaU Ag_mZ h¡ &’’ CXmhaUm| g{hV Bg H$WZ H$s nwpîQ>>  
H$s{OE & 31=3 

‘‘Minerals are unevenly distributed in India.’’ Support the statement with 

examples. 

14. ‘ñd{U©_ MVw^w©O’ _hm-amO_mJm] H$s {H$Ýht VrZ {deofVmAm| H$m _yë`m§H$Z H$s{OE & 31=3 

Evaluate any three features of ‘Golden Quadrilateral’ Super Highways.  

15. bmoH$V§Ì _| {dnjr amOZr{VH$ Xbm|o H$s ^y{_H$m H$m {díbofU H$s{OE & 31=3 

Analyse the role of opposition political parties in democracy. 

16. 1830 Ho$ XeH$ _| `yamon _| AmBª {H$Ýht VrZ Am{W©H$ H${R>ZmB`m| H$m dU©Z H$s{OE & 31=3 

AWdm 

{ejm Ho$ joÌ _| \«$m§gr{g`m| H$mo {d`VZm_ _| AmB© {H$Ýht VrZ g_ñ`mAm| H$m dU©Z H$s{OE &  

Describe any three economic hardships faced by Europe in the 1830s. 

OR 

Describe any three problems faced by the French in the sphere of education 

in Vietnam. 
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17. bmoH$Vm§{ÌH$ ì`dñWm go {H$Z _yë`m| Ho$ AmYma na `h Cå_rX H$aZm C{MV h¡ {H$ dh 

gX²^mdnyU© gm_m{OH$ OrdZ CnbãY H$amEJr ? ñnîQ>> H$s{OE & 31=3 

On the basis of which values will it be a fair expectation that democracy 

should produce a harmonious social life ? Explain.  

18. \$adar, 1922 _| Jm±YrOr Zo ‘Agh`moJ Am§XmobZ’ H$mo dmng boZo H$m {ZU©` Š`m| {H$`m ? 

H$moB© VrZ H$maU ñnîQ> H$s{OE &  31=3 

Why did Gandhiji decide to withdraw the ‘Non-Cooperation Movement’ in 

February, 1922 ? Explain any three reasons. 

19. ‘g{dZ` Adkm Am§XmobZ’ _| ì`dgm`r dJm] H$s ^y{_H$m H$m _yë`m§H$Z H$s{OE & 3 

Evaluate the role of business classes in the ‘Civil Disobedience Movement’. 

20. ^maV _| XþJ©-~ñVa-M§Ðnwa bm¡h-A`ñH$ noQ>r H$s {H$Ýht VrZ {deofVmAm| H$m dU©Z  

H$s{OE & 31=3 

Describe any three characteristics of the Durg-Bastar-Chandrapur Iron-ore 

belt in India. 

21. CXmarH$aU {H$go H$hVo h¢ ? ^maVr` AW©ì`dñWm na CXmarH$aU Ho$ {H$Ýht Mma à^mdm| H$m 

dU©Z H$s{OE & 1+4=5 

What is liberalisation ? Describe any four effects of liberalisation on the 

Indian economy. 

22. Añn¥í`Vm H$s g_ñ`m H$mo g_mßV H$aZo Ho$ {bE Jm±YrOr Ûmam {H$E JE à`mgm| H$s ì`m»`m 
H$s{OE & 51=5 
Explain the measures taken by Gandhiji to eliminate the problem of 

untouchability. 

23. ^maV _| CÚmoJm| H$s AdpñW{V H$mo à^m{dV H$aZo dmbo {H$Ýht nm±M H$maH$m| H$s naI  
H$s{OE & 51=5 
Examine any five factors affecting the location of industries in India.  
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24. ^maVr` AW©ì`dñWm na d¡ídrH$aU Ho$ {H$Ýht nm±M gH$mamË_H$ à^mdm| H$m {díbofU  

H$s{OE & 51=5 

Analyse any five positive effects of globalisation on the Indian economy. 

25. ‘‘amîQ´>dmX H$s nhbr ñnîQ>> A{^ì`{º$ 1789 _| ‘\«$m§grgr H«$m§{V’ Ho$ gmW hþB© &’’ H$WZ H$s 

naI H$s{OE & 51=5 

AWdm 

CZ H$maUm| H$s naI H$s{OE {OÝhm|Zo A_o[aH$m H$mo {d`VZm_ Ho$ {déÕ `wÕ go hQ>Zo Ho$ {bE 

_O~ya {H$`m &  

‘‘The first clear expression of nationalism came with the ‘French 

Revolution’ in 1789.’’ Examine the statement. 

OR 

Examine the reasons that forced America to withdraw from the Vietnam 

war.  

26. ‘‘g^r Xoem| Am¡a g^r n[apñW{V`m| _| H$moB© ^r Xbr` ì`dñWm AmXe© Zht h¡ &’’ H$WZ H$m 

{díbofU H$s{OE & 51=5 

‘‘No party system is ideal for all countries and in all situations.’’ Analyse 

the statement.  

27. ^maVr` AW©ì`dñWm _| agm`Z CÚmoJm| H$s ^y{_H$m H$m {díbofU H$s{OE & 51=5 

Analyse the role of chemical industries in the Indian economy. 

28. bmoH$V§Ì H$s {H$Ýht nm±M {deofVmAm| H$m dU©Z H$s{OE & 51=5 

Describe any five characteristics of democracy. 
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29. VrZ bjU A, B Am¡a C, ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥îR> 9 na), _| 

A§{H$V {H$E JE h¢ & BZ bjUm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE Am¡a 
CZHo$ ghr Zm_, _mZ{MÌ na ItMr JBª aoImAm| na {b{IE : 3 1=3 

A. dh eha Omo O{b`m±dmbm ~mJ H$s KQ>Zm go g§~Õ h¡ & 

B. dh ñWmZ Ohm± ^maVr` amîQ´>r` H$m±J«og H$m A{YdoeZ hþAm Wm & 

C. dh ñWmZ Ohm± Jm±YrOr Zo Z_H$ µH$mZyZ Vmo‹S>m Wm & 

Three features A, B and C are marked on the given political outline map of 

India (on page 9). Identify these features with the help of the following 

information and write their correct names on the lines marked on the map : 

A. The city associated with the Jallianwala Bagh incident. 

B. The place where the Indian National Congress session was held. 

C. The place where Gandhiji violated the Salt Law. 

 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 29 Ho$ ñWmZ na  
h¢ : 

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 29 : 

(29.1) O{b`m±dmbm ~mJ H$s KQ>Zm go g§~§{YV eha H$m Zm_ {b{IE &  

(29.2) Cg amÁ` H$m Zm_ {b{IE Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h {H$`m Wm & 

(29.3) Cg ñWmZ H$m Zm_ {b{IE Ohm± Jm±YrOr Zo Z_H$ µH$mZyZ Vmo‹S>m Wm & 3 1=3 

(29.1) Name the city related to Jallianwala Bagh incident. 

(29.2) Name the State where the Indigo planters organised Satyagraha. 

(29.3) Name the place where Gandhiji violated the Salt Law. 
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30. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥îR> 11 na) _| {ZåZ{b{IV H$mo Cn`wº$ {M•m| 

go Xem©BE Am¡a CZHo$ Zm_ {b{IE : 3 1=3 

A. Zamoam – AmpÊdH$ D$Om© g§`§Ì 

B. VyVrH$mo[aZ – à_wI g_wÐr nÎmZ 

C. {^bmB© – bmohm Am¡a BñnmV g§`§Ì 

On the given political outline map of India (on page 11) locate and label 

the following features with appropriate symbols : 

A. Naraura – Nuclear Power Plant 

B. Tuticorin – Major Sea Port 

C. Bhilai – Iron and Steel Plant 

 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 30 Ho$ ñWmZ na  
h¢ : 

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 30 : 

(30.1) Cg amÁ` H$m Zm_ {b{IE Ohm± Zamoam AmpÊdH$ D$Om© g§`§Ì pñWV h¡ &  

(30.2) Cg amÁ` H$m Zm_ {b{IE Ohm± VyVrH$mo[aZ g_wÐr nÎmZ pñWV h¡ &  

(30.3) {^bmB© bmohm Am¡a BñnmV g§`§Ì {H$g amÁ` _| pñWV h¡ ? 3 1=3 

(30.1) Name the State where Naraura Nuclear Power Plant is located. 

(30.2) Name the State where Tuticorin Sea Port is located. 

(30.3) In which State is the Bhilai Iron and Steel Plant located ? 
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àíZ g§. 29 Ho$ {bE  For question no. 29 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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àíZ g§. 30 Ho$ {bE  For question no. 30 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 

Outline Map of India (Political) 

 

 


